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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

s=k'jf{wf/ ljsf; 0 0 0 0

1= aly{ª ;]G^/ lgdf{0f pk:jf:Yo rf}sL cf]t uf]= 1 500000.0 1 0 1 0.0 1 500000 450 371 457 365

2= vfg]kfgL of]hgf /f+s 6 / 8 uf]= 1 300000.0 1 0 1 0.0 1 300000 241 476 251 347

3= vfg]kfgL of]hgf /f+;L 3/ 6 uf= 1 300000.0 1 0 1 0.0 1 300000 162 445 211 318

hDdf 1100000.0 0.0 1100000 853 1292 919 1030

v= ;dflhs k'jf{wf/ 

1=

u=cfly{s l;k÷ljsf;

1= dlxnfnfO{ k|tIf kmfO{bf k'Ug] cfo cfh{g 

l;k ljsf; sfo{qmd uf]= 1 180000.0 1 0 1 0.0 1 180000 0 0 212 249

2=dlxnf :jf:Yo :j+;]ljsf k|f]t;fxg ;DaGwL 

/ lx+;f lkl*t dlxnfx?sf nflu ;'/lIft 

cfaf; u[x lgdf{0f uf]= 1 200000.0 1 0 1 0.0 1 200000 0 0 475 985

hDdf 380000.0 380000 687 1234

#=;+:yfut ljsf; 1 1 0 1 1 0 0 0 0 0

1=dlxnfx?sf] r]tgf clea[$L tyf l;k ljsf; 

sfo{qmd 1 1 50000.0 1 0 1 0.0 1 50000 0 0 579 784

hDdf 50000.0 50000 579 784

hDdf 
3010000.0

0 3010000 0 0 0 0

tof/ ug]{ ?h" ug]{sf] :jLs[t ug]{sf] 

gfd M bLk]Gb|s'df/ l*=;L= gfd M /fds'df/ Gof}kfg] gfd M lx/fnfn /]UdL

kb M gf=;'= kb M sfo{qmd clws[t kb M :yfgLo ljsf; clwsf/L

b:tvt M b:tvt b:tvt M 

ldlt M ldlt M ldlt M 

cg';'lr 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_sf] v)* -u_;+u ;DjlGwt 

lhNnf ljsf; ;ldltsf] sfof{no,/f]Nkf .
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cf=a=070÷071

lk%l*osf] 

ju{ cGo ju{

lk%l*Psf] 

ju{ cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

s=k'jf{wf/ ljsf; 0 0 0 0 0 0

1=aly{ª ;]g^/ lgdf{)f pk:jf:Yo rf}ls 

b'lj*F*f uf] 1
500000.0

0 0 0
0.0

0 500000 244 356 419 675

hDdf 500000.0 500000 244 356 419 675

v= ;dflhs k'jf{wf/ 

1=k|fylds ljBfno ejg tyf zf}rfno 

lgdf{0f ljleGg
500000.0

0 0 0
0.0

0 500000 2571 8496 1458 3678

hDdf 500000.0 500000 2571 8496 1458 3678

u=cfly{s l;k÷ljsf;

200000.0 0 0 0 0.0 0 0 0 0 0 0

hDdf 200000.0

#=;+:yfut ljsf; 

1= afn laafx d'Qm uf=lj=;= #f]if0ff 

sfo[qmd ljleGg
300000.0

0 0 0
0.0

0 300000 1245 1648 1597 4586

2= afn d}qL :yfgLo zf;g sfo{qmd ljleGg 230000.0 0 0 0 0.0 0 230000 1849 2675 1867 2465

hDdf 530000.0 530000 3094 4323 3464 7051

hDdf 1730000.0 1530000.0

tof/ ug]{ ?h" ug]{sf] :jLs[t ug]{sf] 

gfd M bLk]Gb|s'df/ l*=;L= gfd M /fds'df/ Gof}kfg] gfd M lx/fnfn /]UdL

kb M gf=;'= kb M sfo{qmd clws[t kb M :yfgLo ljsf; clwsf/L

b:tvt M b:tvt b:tvt M 

ldlt M ldlt M ldlt M 

kl/df)f

qm=

; If]q lqmofsnfksf] ljj/)f O{sfO{
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lk%l*osf] 

ju{ cGo ju{

lk%l*Psf] 

ju{ cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

s=k'jf{wf/ ljsf; 

1= blnt tyf hghftL a:tL t]afª df ;]nf/ 

:^f]/ lgdf{0f uf] 1
300000.0

0 0 0
0.0

0 300000 112 241 174 321

2=blnt tyf hghftL a:tL #tL{ufp+ 6 

vf=kf=of] uf] 1
700000.0

0 0 0
0.0

0 700000 114 254 98 241

3= hghftL a:tLdf n#'hnljB't cfof]hgf 

h]Nafª :t/ a[l$ uf] 1
500000.0

0 0 0
0.0

0 500000 942 1042 754 451

hDdf 1500000.0 1500000 1168 1537 1026 1013

v= ;dflhs k'jf{wf/ 

u=cfly{s l;k÷ljsf;

1=ckf+u l;k ljsf; sfo{qmd tyf blnt 

a:tL v'+u|L xl/ufp+df kz' ljsf; sfo{qmd ljlegg
350000.0

0 0
0.0

0 350000 132 0 125 0

hDdf 350000.0 350000 132 125

#=;+:yfut ljsf; 0.0 0 0 0 0 0 0

1= %'jf%'t tyf afnL#/] k|yf pgd'ng 

sfo[qmd ljlegg
50000.0

0 0 0 50000 235 0 245 0

2=h]i&gful/s :jf:Yo lzlj/ ;+rfng ljlegg 140000.0 0 0 0 140000 465 245 245 754

hDdf 190000.0 190000 700 245 490 754

hDdf 2040000.0 2040000

tof/ ug]{ ?h" ug]{sf] :jLs[t ug]{sf] 

gfd M bLk]Gb|s'df/ l*=;L= gfd M /fds'df/ Gof}kfg] gfd M lx/fnfn /]UdL

kb M gf=;'= kb M sfo{qmd clws[t kb M :yfgLo ljsf; clwsf/L

b:tvt M b:tvt b:tvt M 

ldlt M ldlt M ldlt M 

jh]^ vr{
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lhNnf ljsf; ;ldltsf] sfof{no,/f]Nkf .

nlIft ;d'x, k'jf{wf/ ljsf; / k|j${gfTds sfo{qmdsf] ef}lts tyf ljlQo k|ult ljj/)f

cg';'lr 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_sf] v)* -u_;+u ;DjlGwt 
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cf=a=070.071

lk%l*osf] 

ju{ cGo ju{

lk%l*Psf] 

ju{ cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

s=kj[$fGtfDs nufgL Ifqsf sfo{qmdx? 

1=:jf:yo k"jf{wf/ lgdf{0f÷ :jf:Yo lzlj/ 

;+rfng :yfg 1
100000.0

0 0 0
0.0

1 100000.0 125 245 451 265

2= s[lif ljsf; sfo{qmd dfkm{t gd'gf au}rf 

:yfkgf tyf cGo sfo[qmd ;+rfng :yfg 1
400000.0

0 0 0
0.0

1 400000.0 245 355 153 652

3= kz' ljsf; sfo{qmd cGtu{t /f]Nkf 

lhNnfnfO{ b'w, df;', / c)*ffdf cfTdlge{/ 

agfpg] nufPt sfo{qmd :yfg 3

400000.0

0 0 0

0.0

3 400000.0 451 486 235 451

4= lzIff ljsf; sfo{qmd dfkm{t clgjfo{ 

lgz'Ns lzIff / k"0f{ ;fIf/ lhNnf #f]if0ff 

cleofg ;xof]u sfo{qmd :yfg 1

400000.0

0 0 0

0.0

1 400000.0 452 3658 2351 4582

5= sfof{no ;"rgf k|ljlw tyf ;+rf/ 

Joj:yfkg k^s 1
319000.0

0 0 0
0.0

1 319000.0 4 102 6 103

6=v]ns'b ljsf; ;DjlGw k"lhut ljsf; 

;xof]u sfo{qmd k^s 1
100000.0

0 0 0
0.0

1 100000.0 105 304 307 415

7=u|fld0f ko{^g tyf u'?ªufp+ #/af; 

sfo{qmd kx'Fr ;'wf/ :yfg 1
150000.0

0 0 0
0.0

1 150000.0 417 201 419 216

8=sfof{nosf] ef}lts k"jf{wf/ ;'wf/ sfo{qmd :yfg 1
500000.0

0 0 0
0.0

1 500000.0 0 215 0 106

9=k|sf]k tyf ljkb JoJ:yfkg tyf /fxt 

sfo{qmd ljlegg
100000.0

0 0 0
0.0

0 100000.0 1179 1958 1485 1985

10= ul/a;+u ljZj]]Zj/ sfo{qmd qmdfut ljlegg 580000.0 0 0 0 0.0 0 580000.0 955 1204 456 795

hDdf 3049000.0 3049000.0 3933 8728 5863 9570

tof/ ug]{ ?h" ug]{sf] :jLs[t ug]{sf] 

gfd M bLk]Gb|s'df/ l*=;L= gfd M /fds'df/ Gof}kfg] gfd M lx/fnfn /]UdL

kb M gf=;'= kb M sfo{qmd clws[t kb M :yfgLo ljsf; clwsf/L

b:tvt M b:tvt b:tvt M 

ldlt M ldlt M ldlt M 

kl/df)f
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lk%l*osf] 

ju{ cGo ju{

lk%l*Psf] 

ju{ cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

s=lh=lj=;=cg'bfg k"lhut   

1= ldlemª,v'd]n,uh'n,wjfª,lnjfª -;'lgn  

dfu{_ qmdfut ls=ld= 0.5
250000.0

0 0 0
0.0

0.5 500000 1248 2654 1045 2049

2= ;'lnrf}/,c/]z,Ko"&fg df]af qmdfut ls=ld= 0.5 250000.0 0 0 0 0.0 0.5 500000 945 1479 849 1245

3= ;'lnrf}/, a*frf}/, u'Drfn, kfª df]af 

qmdfut ls=ld= 1.2
500000.0

0 0 0
0.0

1.2 500000 768 1459 405 978

4= sf]^ufp+,dfl*rf}/,#f]*fufp+, lsldrf}/ df]=af 

qmdfut ls=ld= 0.3
500000.0

0 0 0
0.0

0.3 500000 645 984 219 416

5=?OgLjfª,km;f{rf}/,kmufd,h]Njfª df]=jf ls=ld= 1 500000.0 0 0 0 0.0 1 500000 1759 450 312 421

6=xf]n]/L Plss[t ljsf; sfo{qmd -u'?of]hgf 

lgdf{)f / k'jf{wf/ u(L, ?G^L;d]t_ qmdfut ls=ld= 1

500000.0

0 0 0

0.0

1 500000 1978 4584 451 3458

7 ;lxbdfu { lemª;Ln df]=af= ls=ld= 0.5 300000.0 0 0 0 0.0 0.5 300000 1134 89 28 249

8=lqj])fL rlj#f^ df]=jf qmdfut dd{t ls=ld= 0.5 300000.0 0 0 0 0.0 0.5 300000 1148 1947 206 451

9=;'lnrf}/,kf]afª,pjf,yafª df]=jf= qmdfut ls=ld= 300000.0 0 0 0 0.0 0 300000 214 421 542 465

10=dfl*vf]nf c:yfoL sf&]k'n lgdf)f{ tyf 

dd{t ls=ld=
500000.0

0 0 0
0.0

0 500000 748 4785 459 3569

11 cfs]z] kfgL ;+sng sfo{qmd hf}lnkfv/L uf
200000.0

0
0.0

0 200000 116 179 109 195

hDdf 5.5 4100000.0 4600000 10703 19031 4625 13496

s[lif;*s 

11=lsldrf}/,#f]*fufp,nfdL*f*F,;'kf{n,df^/af^f,l

gdf)f qmdfut ls=ld= 4.38
220000.0

0 0 0
0.0

4.38 220000.0 1978 4584 451 3458

12=zlxbdfu{,tfnfjfª,/f+s,u'/f+;],Ol/jfª,sfnfkf]v

/f kffjfª x'b} ?s'd df^/af^f] lgdf{)f 

qmdfut ls=ld= 1.5

1500000.0

0 0 0

0.0

1.5 1500000.0 1134 89 28 249

13=dfl*rf}/,#lt{ufp,bnl;+u],df]^/af^f] lgdf)f 

qmdfut dd{t ls=ld= 1
1000000.0

0 0 0
0.0

1 1000000.0 1148 1947 206 451

14=Ko"/L,?G^L,s/^L,dfl*vf]nf,df^/af^f],lgdf)f 

qmdfut ls=ld= 3
1500000.0

0 0 0
0.0

3 1500000.0 214 421 542 465

15=b'lj*f*+F,wf}nfjfª,p#f,nfkfn,sf%fk,afemfjfª

,;*s,lgdf)f qmdfut ls=ld= 1
1500000.0

0 0 0
0.0

1 925960.0 1248 2654 1045 2049

16=a'(fufp,h'uf/,u}/Lufp+,ltnf df]=jf= qmdfut 

:t/f]GgtL ls=ld= 3
1000000.0

0 0 0
0.0

3 1000000.0 945 1479 849 1245

hDdf 13.9 6720000.0 0.0 6145960.0 6667 11174 3121 7917
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lhNnf ljsf; ;ldltsf] sfof{no,/f]Nkf .

nlIft ;d'x, k'jf{wf/ ljsf; / k|j${gfTds sfo{qmdsf] ef}lts tyf ljlQo k|ult ljj/)f

qm=

; If]q lqmofsnfksf] ljj/)f O{sfO{

jflif {s nIo bf]>f] rf}dfl;s nIo



ef/tLo b'tfaf; ;xof]u sfo{qmd 0 0 0 0 0 0

1=hnhnf SofDk; ejg lgdf)f{ uf]^f 1 10000000.0 0 0 0.0 0 0 0 0 0 0

;fgf l;+rfO{

1=xfgjfª ;fgf l;FrfO{ of]hgf kmufd 5 

qmdfut ls=ld=
500000.0

0 0 0
0.0

0 500000.0 265 945 256 745

2=;fgf l;FrfO{ of]hgf sf]rf{jfª 2,3,4 / 5 

qmdfut ls=ld=
500000.0

0 0 0
0.0

0 500000.0 945 1479 849 1245

3=l;+hfvf]nf ;fgf l;FrfO{ of]hgf kf%fjfª 8 

qmdfut ls=ld=
500000.0

0 0 0
0.0

0 500000.0 768 1459 405 978

4=dfucg';f/sf l;+rfO{ of]hgf ls=ld= 350000.0 0 0 0 0.0 0 350000.0 265 945 256 745

5=#lt{ufp+ 6 l;FrfO{ of]hgf ls=ld= 500000.0 0 0 0 0.0 0 500000.0 945 1479 849 1245

6=kmf]x/d}nf k"af{wf/ Aoa:yfkg sfo{qmd ls=ld= 1000000.0 0 0 0 0.0 0 1000000.0 0 0 0 0

hDdf 3350000.0 3350000.0 3188 6307 2615 4958

u|fld)f vfg]kfgL tyf ;/;kmfO{

1=sy'/f vf]nf vfg]kfgL of]hgf lgdf{)f 

/fªsf]^ 4 / 5 qmdfut uf] 1
600000.0

0 0 0
0.0

0 600000.0 214 845 168 798

2=vfg]kfgL of]hgf lgdf{)f efjfª qmdfut uf] 1 400000.0 0 0 0 0.0 0 400000.0 196 798 198 648

3=vfg]kfgL of]hgf lgdf{)f l;k{ 7 qmdfut uf] 1 1300000.0 0 0 0 0.0 0 1300000.0 395 1042 654 1934

4=Xjfdf v'GRofª ukf{ tdf/L vfg]kfgL of]hgf 

lgdf{)f qmdfut uf] 1
600000.0

0 0 0
0.0

0 600000.0 196 798 198 6485=udfjg d'xfg ;/af/L xfh{ª 6, 7 x'b} 

u'Drfn 6 /fhLkf^f;Dd vf]g]kfgL of]hgf uf] 1 225000.0 0 0 0 0.0 0 225000.0 214 845 168 798

6=ldlemª &"nf]ufp+ vf=kf=of]= wg'jfv]nf ldlemª uf] 1 600000.0 0 0 0 0.0 0 600000.0 395 1042 654 1934

7=:jf:Yo ;/;kmfO :jR%tf Pj+ v'nf lb;fd'Qm uf] 1 2800000.0 0 0 0 0.0 0 2800000.0 0 0 0 0

hDdf 6525000.0 6525000.0 1610 5370 2040 6760

emf]n'+u] k'n sfo{qmd 

qmdfut 

1= bfld{;f dfnflu/L emf]='k'= pjf uf] 1 155563.0 0 0 0 0.0 0 155563.0 214 845 168 798

2= uf]&jfª %fdjf]^ n'+u|Lvf]nf uf] 1 124346.0 0 0 0 0.0 0 124346.0 196 798 198 648

3= jyfg]v'ª s'/]nL bf]efg emf]=k'= uf] 1 1077488.0 0 0 0 0.0 0 1077488.0 395 1042 654 1934

4= pjf t]nvf]nf bf]dO{ emf]=k'= uf] 1 847593.0 0 0 0 0.0 0 847593.0 196 798 198 648

5= Rof/L dfl*vf]nf  emf]=k'= uf] 1 763307.0 0 0 0 0.0 0 763307.0 214 845 168 798

hDdf 2968297.0 2968297.0 1215 4328 1386 4826

emf]=k'=gof+ lgdf{)f 

1= u'gfd vf]nf emf] =k'= lnafª 7 gof+ uf]= 1 551224.0 0 0 0 0.0 551224.0 395 1042 654 1934

2= l;dntf/f emf]=k'= gof+ lgdf{0f uf]= 1 808039.0 0 0 0 0.0 808039.0 214 845 168 798

3= l;afª vf]nf emf]=k'= gof+ lgdf{0f uf]= 1 1302872.0 0 0 0 0.0 1302872.0 214 845 168 798

4= e"tvf]nf emf]=k'=gof+ lgdf{0f /f+sf]6 uf]= 1 510388.0 0 0 0 0.0 510388.0 196 798 198 648

5= c/ªvf]nf emf]=k'= gofF lgdf0f dl;gf 9 uf]= 1 697715.0 0 0 0 0.0 697715.0 214 845 168 798

6= ?G^L u'gfd emf]=k'= lgdf{0f ;lv 9 uf]= 1 456383.0 0 0 0 0.0 456383.0 214 845 168 798

7= uftLgf vf]nf emf]=k'= lgdf{0f ;lv 7 uf] 1 770701.0 0 0 0 0.0 0 770701.0 196 798 198 648

8= k]bL#f^ emf]=k'= lgdf{0f dl;gf 4 uf] 1 0 0 0 0.0 0 0.0 395 1042 654 1934

9= sfkmnaf]^ af]^ emf]=k'= uh'n 4 uf] 1 206661.0 0 0 0 0.0 0 206661.0 214 845 168 798

hDdf 5303983.0 5303983.0 2252 7905 2544 9154

emf]=k'=j[xt dd{t ;+ef/ qmdfut 0

1=;Nn]/L,afafª dfl*vf]nf emf]=k'= uf] 1 412109.0 0 0 0 0.0 0 412109.0 265 945 256 745

2=lnafªL cf+k u'gfdvf]nf emf]=k' uf] 1 110940.0 0 0 0 0.0 0 110940.0 945 1479 849 1245

3=wfª;Lvf]nf  emf]= k' = uf] 1 26904.0 0 0 0 0.0 0 26904.0 768 1459 405 978

4=x'+u|Lvf]nf emf]= k'= uf] 1 358678.0 0 0 0 0.0 0 358678.0 265 945 256 745

5=wf]b|]tf/f lrp/ruf* vf]nf emf]=k'= uf] 1 563846.0 0 0 0 0.0 0 563846.0 945 1479 849 1245

hDdf 1472477.0 1472477.0 3188 6307 2615 4958
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åGåk|efjLt ljz]if sfo{qmd

1=cNnf] pTkfbg tyf ;+sng s]Gb| ;'lnrf}/ uf] 1
950000.0

0 0 0
0.0

0 950000.0 1248 2654 1045 2049

2=cNnf] k|zf]wg s]Gb| #lt{ufp+ uf] 1 950000.0 0 0 0 0.0 0 950000.0 945 1479 849 1245

3=ljpe)*f/ tyf k|zf]wg s]Gb| h+sf]^ 1 uf] 1 950000.0 0 0 0 0.0 0 950000.0 768 1459 405 978

4=cNnf] k|zf]wg s]Gb| sf]^ufp+ 1 uf] 1 950000.0 0 0 0 0.0 0 950000.0 645 984 219 416

5=dfl*rf}/ l;FrfO{ of]hgf sf]^ufpF 1 uf] 1 475000.0 0 0 0 0.0 0 475000.0 1759 450 312 421

6=lnjfª,lrp/Lwf/f l;FrfO{ #f]*fufp+ uf] 1 475000.0 0 0 0 0.0 0 475000.0 1978 4584 451 3458

hDdf 4750000.0 4750000.0 7343 11610 3281 8567

cf=a=M070.071

lk%l*osf] 

ju{ cGo ju{

lk%l*Psf] 

ju{ cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

s=k'jf{wf/ ljsf; 

1 a*frf}/ b'dO{ u'Drfn kfª ;*s ls=ld= 5 500000.0 5 0 5 0.0 5 500000 1759 450 312 421

2= lgufnkfgL l;dkfgL g]kf{ b'Dnf ltnf ;*s ls=ld= 9 600000.0 9 0 9 0.0 9 600000 1978 4584 451 3458

3= ;lxb :d[tL s[lif ;xsf/L l/ª /f]* efafª 

;*s ls=ld= 9
800000.0

9 0 9
0.0

9 800000 1134 89 28 249

4= v;]{ ?G^L s/]^L ;*s ls=ld= 15 500000.0 15 0 15 0.0 15 500000 1148 1947 206 451

hDdf 2400000.0 0 2400000 6019 7070 997 4579

tof/ ug]{ ?h" ug]{sf] :jLs[t ug]{sf] 

gfd M bLk]Gb|s'df/ l*=;L= gfd M /fds'df/ Gof}kfg] gfd M lx/fnfn /]UdL

kb M gf=;'= kb M sfo{qmd clws[t kb M :yfgLo ljsf; clwsf/L

b:tvt M b:tvt b:tvt M 

ldlt M ldlt M ldlt M 

3

e
f}l
t
s
 
k
"j
f{w
f/
 

nfeflGjt hg;+Vof s
}lk
mo
t
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jh]^ vr{ k"?if dlxnf
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jflif {s nIo bf]>f]] rf}dfl;s nIo t]]>f] rf}dfl;s nIo

k|ltj]bg cljlw ;Ddsf] 

k|ult

cg';'lr 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_sf] v)* -u_;+u ;DjlGwt 

lhNnf ljsf; ;ldltsf] sfof{no,/f]Nkf .

nlIft ;d'x, k'jf{wf/ ljsf; / k|j${gfTds sfo{qmdsf] ef}lts tyf ljlQo k|ult ljj/)f
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cf=a=M070.071

lk%l*osf] 

ju{ cGo ju{

lk%l*Psf] 

ju{ cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

s=k'jf{wf/ ljsf; 

1= #tL{ufp+ ;lxbdfu{ uv{ª cf?ng]^f ;*s ls=ld= 3 300000.0 0 0 0 0.0 3 300000 1978 4584 451 3458

2= v'd]n ;ftbf]af^f] v]jf;] df]=af= ls=ld= 2.5 300000.0 0 0 0 0.0 2.5 300000 1134 89 28 249

3= ;lxbdfu{ uv{g c/ng]^f df]=af= :t/f]GgtL ls=ld= 3
500000.0

0 0 0
0.0

3 500000 1148 1947 206 451

4=;'/kfng]^f h'/d;Lgf ;*s :t/f]GgtL ls=ld= 4 500000.0 0 0 0 0.0 4 500000 214 421 542 465

5=;b/d'sfd lnafª '̂l*v]n x]Nykf]i^ df]=af= ls=ld= 1 200000.0 0 0 0 0.0 1 200000 1248 2654 1045 2049

6= v'd]n uf=lj=;=sf] nDk'hf b]lv ldlemª 

vf/f hf]*\g] df]=af= ls=ld= 2
300000.0

0 0 0
0.0

2 300000 945 1479 849 1245

7=h'+uf/ bxvf]nf lemg'jf kftn] x'b} #tL{ufp+ 

df]=af= ls=ld= 4
300000.0

0 0 0
0.0

4 300000 1134 89 28 249

8=h'+uf/ g]kf{ b]lv sfpnfaf]^ ;Dd df]=af= ls=ld= 2.5 300000.0 0 0 0 0.0 2.5 300000 1148 1947 206 451

9=u}l/ufp+ /fd|L (f]/]gL ufltgf t'Snf dfl*rf}/ 

;*s :t/f]GgtL ls=ld= 5
300000.0

0 0 0
0.0

5 300000 214 421 542 465

hDdf 3000000.0 0 3000000 9163 13631 3897 9082

k"?if dlxnf
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cg';'lr 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_sf] v)* -u_;+u ;DjlGwt 

lhNnf ljsf; ;ldltsf] sfof{no,/f]Nkf .

nlIft ;d'x, k'jf{wf/ ljsf; / k|j${gfTds sfo{qmdsf] ef}lts tyf ljlQo k|ult ljj/)f

t]>f] rf}dfl;s÷aflif{s k|ult k|ltj]bg 
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If ]q lqmofsnfksf] ljj/)f O{sfO{

jflif {s nIo bf]>f] rf}dfl;s nIo t]]>f] rf}dfl;s nIo

k|ltj]bg cljlw ;Ddsf] 

k|ult nfeflGjt hg;+Vof s
}lk
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t

kl/df)f jh]^ kl/df)f jh]^ kl/df)f jh]^ kl/df)f

jh]^ vr{



tof/ ug]{ ?h" ug]{sf] :jLs[t ug]{sf] 

gfd M bLk]Gb|s'df/ l*=;L= gfd M /fds'df/ Gof}kfg] gfd M lx/fnfn /]UdL

kb M gf=;'= kb M sfo{qmd clws[t kb M :yfgLo ljsf; clwsf/L

b:tvt M b:tvt b:tvt M 

ldlt M ldlt M ldlt M 

cf=a=M070.071

lk%l*osf] 

ju{ cGo ju{

lk%l*Psf] 

ju{ cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

s=df=s[i)f axfb'/ dx/f -1000000_ 

1= hnhnf /]l*of] ejg knl;ª uf]^f 1 200000.0 0 0 0.0 1 200000.0 214 421 542 465

2= xfh{ª df]^/af^f] lgdf{0f ls=ld= 0.5 100000.0 0 0 0 0.0 0.5 100000.0 1248 2654 1045 2049

3= ;lxb :d[tL kfs{ lgdf{0f ufd ls=ld= 3 200000.0 0 0 0 0.0 3 200000.0 945 1479 849 1245

4= lnafª wf}lnufp+ uh'n df]=af= ls=ld= 0.5 125000.0 0 0 0 0.0 0.5 125000.0 1134 89 28 249

5= O{Gb| l:d[tL o"jfSna lkmN* lgdf{)f uf]^f 1 100000.0 0 0 0 0.0 1 100000.0 2654 1045 2049 1248

6= v'+u|L xl/ufp df]=af= :tf/f]GgtL ls=ld= 0.5 100000.0 0 0 0 0.0 0.5 100000.0 1248 2654 1045 2049

7= ;lxb :d[tL k|lti&fg ejg lgdf{0f uf]^f 1 111061.0 0 0 0 0.0 1 111061.0 945 1479 849 1245

8= k|zf;glgs vr{ 5 k|ltzt 46949.0 0 0 0 0.0 0 46949.0

9= lh=lj=;=sG ]̂Gh]lg;L 16990.0 0 0 0 0.0 0 16990.0

hDdf 1000000.0 0 0 1000000 8388 9821 6407 8550

df= cf]g;/L #tL{du/ -1000000_

1= /f+sf]^ emf+lqmvf]nf /ugf df]^/ af^f] ls=ld= 0.5 335750.0 0 0 0 0.0 0.5 335750.0 1134 89 28 249

2= sf]rf{afª #fkf rªlnª df]=af= ls=ld= 1.5 600000.0 0 0 0 0.0 1.5 600000.0 2654 1045 2049 1248

3= k|zf;lgs vr{ 5 k|ltzt 46949.0 0 0 0 0.0 0 46949.0

4= lh=lj=;=sG ]̂Gh]g;L 1=5 k|ltzt 17301.0 0 0 0 0.0 0 17301.0

hDdf 1000000.0 0 1000000.0 3788 1134 2077 1497

df=cdl/l;+ k'g - 1000000_ 0 0.0
1= ad{l;$ k|f=lj= cf/vf]nf /f+s lkmN* 

lgdf{0f uf]^f 1
200000.0

0 0 0 0 1 200000.0 214 421 542 465

2= ;f]nf/ 9'jfgL cg'bfg -lhNnf e/ _ lhNnfe/ 735750.0 0 0 0 0 0 735750.0 6584 9854 8457 1079

3= k|zf;lgs vr{ 5 k|ltzt 46949.0 0 0 0 0 0 46949.0

4= lh=lj=;=sG ]̂Gh]g;L 1=5 k|ltzt 17301.0 0 0 0 0 0 17301.0

jh]^ kl/df)f jh]^ kl/df)f

jh]^ vr{ k"?if dlxnf
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sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_sf] v)* -u_;+u ;DjlGwt 

lhNnf ljsf; ;ldltsf] sfof{no,/f]Nkf .

nlIft ;d'x, k'jf{wf/ ljsf; / k|j${gfTds sfo{qmdsf] ef}lts tyf ljlQo k|ult ljj/)f

t]>f] rf}dfl;s÷aflif{s k|ult k|ltj]bg 
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If ]q lqmofsnfksf] ljj/)f O{sfO{

jflif {s nIo bf]>f]] rf}dfl;s nIo t]>f] rf}dfl;s nIo

k|ltj]bg cljlw ;Ddsf] 

k|ult nfeflGjt hg;+Vof

s
}lk
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t

kl/df)f jh]^ kl/df)f



hDdf 1000000.0 0 1000000.0 6798 10275 8999 1544

df=uf]s'n k|;fb #tL{du/ -1000000_

1= u}l/ufp+ 9 /fDdL (f]/]gL df]=af= lgdf{)f ls=ld= 1.5
500000.0

0 0 0 0 1.5 500000.0 945 1479 849 1245

2= gfªvf]nf n=h=lj=cf= lgdf{0f uf]^f 1 288000.0 0 0 0 0 1 288000.0 214 421 542 465

3= s'h]uf/ hnljB't of]hgf uf]^f 1 100000.0 0 0 0 0 1 100000.0 915 1779 1504 1476

4= l;h{glzn b'uf{Hof]tL k|f=lj=\tflnaf %fgf 

dd{dt uf]^f 1
50000.0

0 0 0 0 1 50000.0 135 248 245 325

5= k|zf;lgs vr{ 5 k|ltzt 46949.0 0 0 0 0 0 46949.0

6= lh=lj=;=sG ]̂Gh]G;L 15051.0 0 0 0 0 0 15051.0

hDdf 1000000.0 0 1000000.0 2209 3927 3140 3511

tof/ ug]{ ?h" ug]{sf] :jLs[t ug]{sf] 

gfd M bLk]Gb|s'df/ l*=;L= gfd M /fds'df/ Gof}kfg] gfd M lx/fnfn /]UdL

cf=a=M070.071

lk%l*osf] 

ju{ cGo ju{

lk%l*Psf] 

ju{ cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

s= ;+:yfut ljsf; tyf ;+/If0f 

1= efiff tyf lnlk ;+/If)f tyf k|sfzg sfo{qmd k^s 1 50000.0 0 0 0 0.0 1 300000 235 458 589 457

2= hghftLnfO{ /f]huf/L d"ns tflnd k^s 1 100000.0 0 0 0 0.0 1 300000 583 457 487 125

3= cg'udg tyf ;'kl/j]If)f k^s 1 50000.0 0 0 0 0.0 1 500000

hDdf 200000.0 1100000

1= cfo tyf /f]huf/ tflnd sfo{qmd k^s 1 150000.0 0 0 0 0.0 1 150000.0 22 24 14 46

2= k/dk/fut l;k ljsf; tyf k|ljlw 

x:tfGt/)f sfo{qmd k^s 1
100000.0

0 0 0 0.0 1 100000.0 59 25 45 96

cg'udg tyf ;'kl/JoIf0f k^s 1 50000 0 0 0 0.0 1 50000.0

hDdf 300000.0 300000.0

tof/ ug]{ ?h" ug]{sf] :jLs[t ug]{sf] 

gfd M bLk]Gb|s'df/ l*=;L= gfd M /fds'df/ Gof}kfg] gfd M lx/fnfn /]UdL

kb M gf=;'= kb M sfo{qmd clws[t kb M :yfgLo ljsf; clwsf/L
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If ]q lqmofsnfksf] ljj/)f kl/df)f jh]^ kl/df)f
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cg';'lr 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_sf] v)* -u_;+u ;DjlGwt 

lhNnf ljsf; ;ldltsf] sfof{no,/f]Nkf .

nlIft ;d'x, k'jf{wf/ ljsf; / k|j${gfTds sfo{qmdsf] ef}lts tyf ljlQo k|ult ljj/)f

t]>f] rf}dfl;s÷aflif{s k|ult k|ltj]bg 

O{sfO{

jflif {s nIo bf>f] rf}dfl;s nIo t]>f] rf}dfl;s nIo

k|ltj]bg cljlw ;Ddsf] 

k|ult nfeflGjt hg;+Vof s
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t

jh]^ vr{ k"?if dlxnf
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b:tvt M b:tvt b:tvt M 

ldlt M ldlt M ldlt M 

cf=a=M070.071

lk%l*osf] 

ju{ cGo ju{

lk%l*Psf] 

ju{ cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

s=;fgf hnljB't k"jf{wf/ 

1= afkm'vf]nf n#' hnljB't  cfof]hgf ls=jf= 20 50000.0 0 0 0 0.0 20 50000.0 945 1479 849 1245 doflrª

2= l;+hf vf]nf n=h=lj= ls=jf= 20 50000.0 0 0 0 0.0 20 50000.0 214 421 542 465 doflrª

3= #':jfª vf]nf n=h=lj=cf= ls=jf= 22 50000.0 0 0 0 0.0 22 50000.0 915 1779 1504 1476 doflrª

4= xfO{d vf]nf n=h=lj=cf= ls=jf= 32 50000.0 0 0 0 0.0 32 50000.0 135 248 245 325 doflrª

5= s'h]uf/ n=h=lj=cf= ls=jf= 96 300000.0 0 0 0 0.0 96 300000.0 450 235 598 452 doflrª

hDdf 150000.0 150000.0 2659 4162 3738 3963

1= :yfgLo o'jf ;fem]bf/L sfo{qmd ;+rfng 

ljleGg 10 Ifq]sf nflu ? 76000. sf b/n] 

10 j^f u}/;/sf/L ;+:yfx?nfO[ uf]^f 10

760000.0

0 0 0 0.0 10 760000.0 1452 1548 1254 3254

2= cg'ud vr{ k^s 1 14000.0 0 0 0 0.0 1 14000.0

hDdf 774000.0 774000.0 1452 1548 1254 3254

1= ;fdflhs ;'/Iff eQmf 76595500 0 0 0 0.0 0 47838900

2= afn ;+/If0f eQf ljt/0f -kf]if0f vr{_ 11450600 0 0 0 0.0 0 11450600

hDff 88046100 59289500

1= ;fdflhs kl/rfns kf/L >lds ;+Vof 5812000 0 0 0 0.0 0 5812000

cg';'lr 17

sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_sf] v)* -u_;+u ;DjlGwt 

lhNnf ljsf; ;ldltsf] sfof{no,/f]Nkf .

nlIft ;d'x, k'jf{wf/ ljsf; / k|j${gfTds sfo{qmdsf] ef}lts tyf ljlQo k|ult ljj/)f
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2= ;fdflhs kl/rfns cft] hft] tyf e|d0f 

vr{ ;+Vof 490000 0 0 0 0.0 0 490000

3= ;fdflhs kl/rfng vr{ -k|lt gf=;=s]_ ;+Vof 1530000 0 0 0 1470000.0 0 1470000.0

4= ;fdflhs kl/rfng vr{ -k|lt j*f 

gful/s d~r_ ;+Vof 916000 0 0 0 8820000.0 0 8820000.0

5= gful/s ;r]tgf s]Gb|sf kbflwsf/Lx?sf 

nflu hLJfg ;'wf/sf nflu DCG 3B nfu' 

ePsf 26 uf=lj=;=nfO{ cg'bfg ;+Vof 26 2600000 0 0 0 26 2600000.0

6= ;fgf ;fd'bflos k"jf[wf/ ljsf; sfo{qmd 

uf=lj=;= -gf=s=;]_ ;+vof 13 5616000 0 0 0 13 5616000.0

7= afta/0f d}qL :yfgLo zf;g sfo{qmd 

;+rfng 13 uf=lj=;= ;+Vof 13 200000 0 0 0 13 200000.0

8= cg'udg sfo{qmd k^s 1 200000 0 0 0 1 200000.0

hDdf 17364000 25208000.0

tof/ ug]{ ?h" ug]{sf] :jLs[t ug]{sf] 

gfd M bLk]Gb|s'df/ l*=;L= gfd M /fds'df/ Gof}kfg] gfd M lx/fnfn /]UdL

cf=a=M070.071

lk%l*osf] 

ju{ cGo ju{

lk%l*Psf] 

ju{ cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

s=;fgf hnljB't k"jf{wf/ 

1=:yfgLo lgsfo ljQLo cfof]u ;DjGwL sfo{ k^s 1 454000.0 0 0 0 0.0 1 454000.0 doflrª

0 0 0 0.0 0 0.0 doflrª

0 0 0 0.0 0 0.0 doflrª

hDdf 454000.0 454000

1=hnafo' kl/j{tg ;xof]u sfo{qmd ljleGg 
29684000.0

0 0 0 0.0 0 29684000.0

hDdf 29684000.0 29684000.0

1= dfl*vf]nf kSsL k"n uf] 1 4750000 0 0 0 0.0 1 4750000

2= k|zf;lgs vr{ 250000 0 0 0 0.0 0 250000

hDff 5000000 5000000
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sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_sf] v)* -u_;+u ;DjlGwt 

lhNnf ljsf; ;ldltsf] sfof{no,/f]Nkf .

nlIft ;d'x, k'jf{wf/ ljsf; / k|j${gfTds sfo{qmdsf] ef}lts tyf ljlQo k|ult ljj/)f

t]>f] rf}dfl;s÷aflif{s k|ult k|ltj]bg 

qm=

; a
h
]^
 
lz
if
{s
 

If ]q lqmofsnfksf] ljj/)f O{sfO{

jflif {s nIo bf>f] rf}dfl;s nIo t]]>f] rf}dfl;s nIo

k|ltj]bg cljlw ;Ddsf] 

k|ult nfeflGjt hg;+Vof s
}lk
mo
t

kl/df)f jh]^ kl/df)f jh]^ kl/df)f jh]^ kl/df)f jh]^ vr{

k"?if dlxnf
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1=uf=lj=;=:t/Lo zflGt ;ldlt ;xof]u 

sfo{qmd ;+Vof 1122000 0 0 0 0.0 0 1122000

0 0 0 0.0 0 0

0 0 0 0.0 0 0.0

0 0 0 0.0 0 0.0

hDdf 1122000 1122000.0

tof/ ug]{ ?h" ug]{sf] :jLs[t ug]{sf] 

gfd M bLk]Gb|s'df/ l*=;L= gfd M /fds'df/ Gof}kfg] gfd M lx/fnfn /]UdL

kb M gf=;'= kb M sfo{qmd clws[t kb M :yfgLo ljsf; clwsf/L

b:tvt M b:tvt b:tvt M 

ldlt M ldlt M ldlt M 

cf=a=M070.071

lk%l*osf] 

ju{ cGo ju{

lk%l*Psf] 

ju{ cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

s= lh=lj=;=sf]if o"gPkmlkP

1= sfo{qmd ;+rfng vr{ k^s 6687015.0 0 0 0 6349000.0 0 6349000.0 doflrª

0 0 0 0.0 0 0.0 doflrª

0 0 0 0.0 0 0.0 doflrª

hDdf 6687015.0 6349000

1= xf]n]/L hnhnfsf] ef}lts e"jf{wf/ lgdf{0f :yfg
200000.0

0 0 0 0.0 0

2= lza u'kmfh'+uf/ kx'+r dfu{ lgdf{0f ls=ld= 500000.0 0 0 0 0.0 0 500000.0 214 421 542 465

3= eo/yfg elGb/ lgdf{0f tyf ;+/If0f 

h]bafª uf]^f 1
200000.0

1 0 0 0.0 1 200000.0 915 1779 1504 1476

4= lqk'/fZj/L dlGb/ ef}lts k"jf{wf/ lgdf{0f 

tyf ;/+/If0f uf]^f 1
200000.0

0 0 0 0.0 1 200000.0 135 248 245 325

1 0 0 0.0 0 0.0

k"?if dlxnf
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sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_sf] v)* -u_;+u ;DjlGwt 

lhNnf ljsf; ;ldltsf] sfof{no,/f]Nkf .

nlIft ;d'x, k'jf{wf/ ljsf; / k|j${gfTds sfo{qmdsf] ef}lts tyf ljlQo k|ult ljj/)f

t]>f] rf}dfl;s÷aflif{s k|ult k|ltj]bg 

qm=
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h
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lz
if
{s
 

If ]q lqmofsnfksf] ljj/)f O{sfO{

jflif {s nIo bf]>f] rf}dfl;s nIo t]]>f] rf}dfl;s nIo

k|ltj]bg cljlw ;Ddsf] 

k|ult nfeflGjt hg;+Vof

s
}lk
mo
t

kl/df)f jh]^ kl/df)f jh]^ kl/df)f jh]^ kl/df)f jh]^ vr{
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hDdf 1100000.0 1100000.0 1264 2448 2291 2266

1= sfo{qmd ;+rfng vr{

uf]^f÷k^

s 6103268.7 0 0 0 3439800.0 0 3439800.0

hDff 6103268.7 3439800

tof/ ug]{ ?h" ug]{sf] :jLs[t ug]{sf] 

gfd M bLk]Gb|s'df/ l*=;L= gfd M /fds'df/ Gof}kfg] gfd M lx/fnfn /]UdL

kb M gf=;'= kb M sfo{qmd clws[t kb M :yfgLo ljsf; clwsf/L

b:tvt M b:tvt b:tvt M 

ldlt M ldlt M ldlt M 

cf=a=M070.071

lk%l*osf] 

ju{ cGo ju{

lk%l*Psf] 

ju{ cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

s=k'jf{wf/ ljsf; 0 0 0 0

1= lh=lj=;=÷k|fljlws sfof{no ejg lgdf{0f uf]= 1 800000.0 1 0 1 0.0 0 0 0 0 0

2= ;+:yfut k"af{wf/ lgdf{0f tyf dd{t ;+ef/ 

sfo{ uf]=
400000.0

0 0 0
0.0

0 0 0 0 0

3= cflGt/Ls cfo clea[l$sf nflusf nflu 

k"af{wf/ lgdf{0f tyf dd{t ;Def/ uf]=
311000.0

0 0 0
0.0

0 61323.0 0 0 0 0

0 1 0 0.0 0

hDdf 1511000.0 0 61323 0 0 0 0

1=dlxnf ;fd'bflos ;xsf/L ;+:yf u&g tyf 

Ifdtf ljsf; sfo{qmd uf]=
100000.0

0 0 0 0.0 0 100000 123 425 425 568
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sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_sf] v)* -u_;+u ;DjlGwt 

lhNnf ljsf; ;ldltsf] sfof{no,/f]Nkf .

nlIft ;d'x, k'jf{wf/ ljsf; / k|j${gfTds sfo{qmdsf] ef}lts tyf ljlQo k|ult ljj/)f

t]>f] rf}dfl;s÷aflif{s k|ult k|ltj]bg 

qm=

; a
h
]^
 
lz
if
{s
 

If ]q lqmofsnfksf] ljj/)f O{sfO{

jflif {s nIo bf]>f]] rf}dfl;s nIo t>f]] rf}dfl;s nIo

k|ltj]bg cljlw ;Ddsf] 

k|ult nfeflGjt hg;+Vof

s
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kl/df)f jh]^ kl/df)f jh]^ kl/df)f jh]^ kl/df)f

jh]^ vr{
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2= aly{ª ;]G^/ lgdf{0f /f+;L uf=lj=;= uf]= 1
585000.0

0 0 0 0.0 1 585000 124 524 352 452

hDdf 
685000.0

685000 247 949 777 1020

1= k|fylds ljBfnox?nfO{ kmlg{r/ ;xof]u 

sfo{qmd ljleGg
300000.0

0 0 0 0.0 0 300000 4658 5487 4587 9658

2= afnd}qL :yfgLo zf;g sfo{qmd ;+rfngsf 

nflu afnaflnsf z}lIfs ;fdu|L ljt/0f rf/ 

uf=lj=;= 

ljleGg -

rf/ 

uf=lj=;=

_ 4

204000.0

0 0 0 0.0 4 204000 2458 3254 4257 4528

hDdf 504000.0 504000 7116 8741 8844 14186

1= ckf+ud}qL tyf ckf+ux?nfO{ cfo cfh{g / 

l;k d'ns sfo{qmd k^s 1
100000.0

0 0 0 0.0 1 100000.0 123 425 425 568

2= blnt hghftL o'jf a}b]lzs /f]huf/ 

pGd'v l;k ljsf; sfo{qmd k^s 1
100000.0

0 0 0 0.0 1 100000.0 152 203 425 445

3= h]i& gful/sx?sf nflu a[$ lj>fd :yn 

lgdf{0f÷ef}lts k"jf{wf/ ljsf; sfo{qmd k^s 1

100000.0

0 0 0 0.0 1 100000.0 122 250 123 231

4= hghftL a:tL n#'hnljB't cfof]hgf 

u}*'ªvf]nf :o"/L qmdfut 
400000.0

0 0 0 0.0 0 400000.0 152 246 125 425

hDdf 700000.0 700000.0 549 1124 1098 1669

tof/ ug]{ ?h" ug]{sf] :jLs[t ug]{sf] 

gfd M bLk]Gb|s'df/ l*=;L= gfd M /fds'df/ Gof}kfg] gfd M lx/fnfn /]UdL

kb M gf=;'= kb M sfo{qmd clws[t kb M :yfgLo ljsf; clwsf/L

b:tvt M b:tvt b:tvt M 

ldlt M ldlt M ldlt M 

cf=a=M070.071

lk%l*osf] 

ju{ cGo ju{

lk%l*Psf] 

ju{ cGo ju{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

1=dfl*vf]nf c:yfoL k'n uf]= 1 500000.0 1 0 1 0.0 1 500000.0 245 1542 458 452

2=ko{^g o'$ko{^g, ;lxTo / snf ;DjlGw 

sfo{qmd ljleGg 1
250000.0

1 0 1
0.0

1 250000.0 125 142 235 425

3 lh=lj=;= k|fljlws sfof[nosf] ejg lgdf{0f uf]= 1
500000.0

1 0 1
0.0

1 500000.0 0 0 0

4= sfof{nosf] k"jf{wf/ ;'wf/ sfo{qmd uf]= 1 850000.0 1 0 1 0.0 1 850000.0

ljleGg of]hgfx?sf] dd{t ;+ef/ tyf lgdf{0f 

-cfjZoStf cg';f/ _ ljleGg
400000.0

0 0
0.0

0 400000.0 245 125 635 248

5= ljleGg ;fdo'bflos ejg lgdf{0f ljleGg 400000.0 0 0 0 0.0 0 400000.0
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sfo{ljlwsf] bkmf 36 sf] pkbkmf -2_sf] v)* -u_;+u ;DjlGwt 

lhNnf ljsf; ;ldltsf] sfof{no,/f]Nkf .

nlIft ;d'x, k'jf{wf/ ljsf; / k|j${gfTds sfo{qmdsf] ef}lts tyf ljlQo k|ult ljj/)f
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If ]q lqmofsnfksf] ljj/)f O{sfO{
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hDdf 2900000.0 0 0.0 2900000.0 615 1809 1328 1125

1= Psn dlxnf cfocfh{g tyf k"jf{wf/ 

lgdf{0f sfo{qmd ljleGg 1
200000.0

0 0 0 0.0 1 200000.0 245 256 125 248

2= kmkm"n ks]^ If]q wjfªdf kmkm"nsf] pGgt 

hftsf] lj?jf ljt/0f :yfg 1
200000.0

0 0 0 0.0 1 200000.0 124 257 135 254

3= dlxnf of]u lzlj/ ;+rfng k^s 1 50000.0 0 0 0 0.0 1 50000.0 245 654 235 425

4= dlxnfx?sf] ;+:yfut ef}lts k"jf{wf/ 

ljsf; sfo{qmd uf]= 1
100000.0

0 0 0 0.0 1 100000.0 524 135 625 425

5= afn ljafxd'Qm uf=lj=;= #f]if0f sfof{qmd ljlegg 
100000.0

0 0 0 0.0 0 100000.0 524 125 124 325

6= vfg]kfgL ofhgf v'+u|L 3qmdfut / 

v'nv'n]gL vf=kf=of] nufPt ljlegg 
450000.0

0 0 0 0.0 0 450000.0 425 426 526 532

hDdf 1100000.0 1100000.0 2087 1853 1770 2209

1= PrcfO{le P*\; ;DjlGw sfo{qmd :yfg 1 150000.0 0 0 0 0.0 1 150000.0 2351 4256 3251 4256

2= czQm ckf+u %fqa[lt / P;Pnl;df 

lhNnf k|yd x'g] ljBfnosf %fq %fqfx?no{ 

k'/:sf/ sfo{qmd ljleGg 

200000.0

0 0 0 0.0 0 1254 1254 2356 3251

3= jfn :jf:yo lzlj/ tyf ljBfno 

afnaflnsf :jf:Yo sfo[qmd ljleGg
200000.0

0 0 0 0.0 0 200000.0 2654 1254 3256 2654

4= clgjfo{÷lgz'Ns÷zfIf/ lzIffsf nflu 

k|fylds ljBfnosf %fq %fqfx?nfO{ lhNnf 

lzIff sfof[nosf] ;dGjodf z}lIfs ;fdu|L 

ljt/)f ljleGg

350000.0

0 0 0 0.0 0 350000.0 3265 2356 4256 5236

5= clgjfo{÷lgz'Ns÷zfIf/ lzIffsf nflu 

ckf+u tyf blnt afnaflnsf x?nfO[ ljBfno 

kx'+r sfo{qmd ljlegg 

200000.0

0 0 0 0.0 0 4256 2356 1245 3265

hDdf 1100000.0 13780 11476 14364 18662

1= blnt tyf hghftL a:tL ufd df 

n#hnljB't cfof]hgf ufd :yfg 1
500000.0

0 0 0 0.0 1 480000.0 1265 1246 2564 4253

2= a}sNkLs phf{df cg'bfg ljleGg 1 600000.0 0 0 0 0.0 1 600000.0

3=h]i& gful/s x?sf nflu cf+vf lzlj/ tyf 

k'jf{wf/ lgdf{0f sfo{qmd ljleGg 1
100000.0

0 0 0 0.0 1 100000.0 1204 1360 1934 1455

4= blnt÷hghftL tyf lk%l*Psf] ju{nfO{ 

cfo cfh{g tyf Ifdtf ljsf; sfo{qmd ljleGg 1

100000.0

0 0 0 0.0 1 100000.0 106 203 254 321

5= lk%l*Psf] au{ afbL Ol/afª / gful/s 

;r]tfgf s]Gb|sf ;b:ox? Blnt a:tL 

sf] \̂ufp+df cfocfh{g sfo{qmd :yfg 1

200000.0

0 0 0 0.0 1 200000.0 199 206 193 146

6=blnt÷hghftLsf] nflu ;+:yfut ljsf; 

sfo{qmd ljlegg 1
150000.0

0 0 0 0.0 1 150000.0 123 231 146 99

hDdf 1650000.0 1280000.0 2897 3246 5091 6274
1=lhNnf dfnkf]t sfof{no  /fhZj af+*kmf+* 

afktsf] cg'bfg k^s 1 410800 0 0 0 0.0 1 410800 0 0 0 0

2= ag tyf aftfa/0f ;+/If)fsf nflu lhNnf 

ag sfof{nonfO{ cg'bfg k^s 1 180000 0 0 0 0.0 1 180000 0 0 0 0

3= k|sf]k tyf ljktb Joj:yfkg /fxt 

sfo{qmd ljleGg 100000 0 0 0 0.0 0 100000 1126 1354 1493 1845

4= k|ult ;ldIff÷#'DtLlzlj/ ;+~rfng ljleGg 100000 0 0 0 0.0 0 100000

5= o'jf nlIft / v]ns'b ljsf; sfo{qmd ljleGg 150000 0 0 0 0.0 0 150000 123 231 165 132

6= ;fa{hlgs ;'g'jfO{÷;fdflhs 

kl/If0f÷;fa{hlgs kl/If0f ljleGg 100000 0 0 0 0.0 0 100000 0 0 0 0

7= ;xeflutfTds of]hgf th'{df tyf lhNNf 

kl/ifb\ k^s 1 300000 0 0 0 0.0 1 300000 0 0 0 0

8= lhNNff ljsf; of]hgf a'n]l^g k|sfzg k^s 800000 0 0 0 0.0 0 800000 0 0 0 0
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9= ljleGg, lbj;, ;df/f]x ljleGg 100000 0 0 0 0.0 0 100000 0 0 0 0

10=sfof{nosf] nflu cfjZos ;"rgf ;+rf/ 

tyf k|fljlws ;DjlGw pks/0fx? Dd{t ;+ef/ ljleGg 450000 0 0 0 0.0 0 450000 0 0 0 0

11= lhNNff ljsf; /]l*of] sfo{qmd uf]= 2 150000 0 0 0 0.0 2 150000 0 0 0 0

12=;"rgf zfvf Joj:yfkg k^s 1 100000 0 0 0 0.0 1 100000 0 0 0 0

13= nfut ;fem]bf/Lsf] cjwf/f)ffdf -n#'pBd 

nufPt cGo sfo{qmd _ k^s 1 150000 0 0 0 0.0 1 150000 0 0 0 0

0 ljleGg 150000 0 0 0 0.0 0 150000 0 0 0 0

15= k/fkz{ tyf cGo ;]jf vr{ ljleGg 800000 0 0 0 0.0 800000 0 0 0 0

hDdf 4040800 4040800 1249 1585 1658 1977

tof/ ug]{ ?h" ug]{sf] :jLs[t ug]{sf] 

gfd M bLk]Gb|s'df/ l*=;L= gfd M /fds'df/ Gof}kfg] gfd M lx/fnfn /]UdL

kb M gf=;'= kb M sfo{qmd clws[t kb M :yfgLo ljsf; clwsf/L

b:tvt M b:tvt b:tvt M 

ldlt M ldlt M ldlt M 
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